AR (BA+L) #B8 hp88

AN AL (BAAL) B | SFn5410 H 11 H
T =+ 4 | CimHERRERG R (£05) TH
Wi L 8 AT | AT R TETERRNE) 3 RN
T F M 5| KA
TR R i TAER1=688. bm  JEIEHEEW=8. 25m
BT —3
PEAAEEY) T
UARINE (B300-H300) [=266m
R F 7Y 22— 4 (B300) L=91m
K7 Y =— 2 (B1000-H1000) [=51m
H AR RE (B300-H700) L=27m
a7 U — MaRHE (¢ 800) [=12m
IR T
# = Ty A MEKDE N=2 A
EEE T
TREE (EEERR) RC-40  t=10~25cm A=3, 994m2
TR (BREE) RC-40 t=lcm A=451m2
FERE M40 t=15cm A=3, 130m2
Fg (HEER) F/EERIEAs20F t=5cm A=3, 326m2
FIE CREE) FASRKIEAS13 t=3cm A=1, 048m2
ffa 1. GRELESER 7 7 7 CFf) [=244m
BhstEf . (F— R L—/1 Gr-C—4E) =155m
T H | SF5410 A 24 AHST6 43 A 29 H
FPETINE TR 20 oD 5
2 9 = 3
FAE R
FEMFE (FEAFR) | 67,592,000 [ (THERLL QMG EEROFEZFRL)
B K il PRl K& | 61, 128,570 [ (THERLL OMOGERO%EZFRL)

(AL TH)

No. NI EANE fiize

1| WRIATEs

58,540 | sEHIRAMFE AN O S IAHE

2 | OB

58,295 | el RS AL =D X JAh

3 | AR TS

59,300 | sfEHIFRAMFE AN O S IAHE

4 | BUEPESEW

57,936 | s(EHIFRAFE AN O S IAE

5 | IR

58,634 | IeEiHlIFRAMAS AT DS I

6 | RO T

58,907 | slEHlIFRAMFE AN O S IAHE

7 | Vel

60,360 | (EHIRAMFEAIMN O S IAE

60,418.858 | HelEHlIRRAMAS AL 2D = SAE




9 | KIEHERH 59,000 | FRAKAHIFRAGHEAT DX IbE
10| 7 Hlidessd 58,550 | FelEilFRAMFE A G D= Ik
11 | (FRERPIEERR 59,850 | AfEillRAHF AN 2> E JHE
12 | AR 61,248 | 5AL

13 | fh~v7 7 58,300 | el PRAMAR A =D I
14 | [LIPEERRER 66,113.3

15 | ¥~ 3 T HEGHHEN 58,925.5 | sl AT DS IHE

KL (BAFL) AEROSE T, HERLU O E R DR BR - R T,




